Maths — Tuesday 24" March - Hot

REVIEW PAGE - CALCULATIONS

Capy and complete.
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Set out correctly and find
the totals.

€D 4+ 37+ 246 + 25
€ s4+123+9+16
) £3.73 - 65p 4 48p
€D £1.26 - 57p + £2.43

set out correctly and find
the differences.

€D 137 - 66
€ 392 - 58

€5) £418 — £1.45
€5 £3-60 — £1-32

@- Sam buys a coat for
£7% and a pair of shoes
for £26, Howw miuch
does she spend?

@ Emma's grandmother is
01 . Emima is 35 YWhat
is the difference in their

ages?
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Capy and complete.
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Copy and complete.
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Work out and ghve the
remainder as a whale
number.
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Wark out

P cai-2 G £33+4
) 67 + 10 @) £11 + 35

@ Thiere are 24
chocolates in each box,
Haw many chocolales
are there in five boxes?

@) The 92 children in
Year 4 are divided inta
four egual tearms. How
many children are
thiere in each Leam?

-@ What is the product of
23 and 77

(@) Eight friends share the
cost of a meal equally.
The bill is for £132.
Haw much should each
person pay?



